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SRI AMMAN KALVI NILAIYAM

Class: 10™ I Mid term Model Question Paper Marks: 50
PART-I

Choose the correct answer 8x1=8

1.Chemical formula of rust is :

2.Casparian strips are present in the of the root.

3.Kerb’s Cycle takes place in
4.Heart of Heart is called .
5.To project the rockets which of the following principles are required?
6.The body of leech has
7.Dental formula for rabbit is

8.Magnification of n convex lens is

PART-II
Answer any 6 question.(Q.No.16 Compulsory) 6x2=12
9.what is rust? Give the equation for formation of rust?
10.Differentiate between concave lens and convex lens.
11.what is photosynthesis and where in a cell does it occur?
12State Rayleigh’s law of Scattering.
13. why does the sky appear in blue colour.
14.what are the structure involved in the protection of brain?
15.What is amalgam?
16. if an object of mass 5kg moves with linear momentum 2kgms™.Calculate the velocity of
the object.
PART-I1I
Answer any four questions.Q.NO.22 Compulsory 4x4=16
17.Give the applications of universal law gravitation.
18. Enumerate the functions of blood.
19.Define relationship between relation molecular mass and vapour density.
20.i)state the Modern periodic law.
i) Define Isotopes? Given examples.
21.Describe the rocket propulsion.
22. Calculate the number of Moles in
i) 27 g of Al i) 1.51x10% molecules of NH,ClI
Answer all questions 2X7=14
23.a.1) Define-Atomicity.
i) State Snell’s law.
(or)
b.i)With a neat labeled diagram explain the structure of a neuron.
i)How is diastema formed in rabbit?
24.a)i) Differentiate between Mono root and Dicot root.
i) given an account on vascular bundles of dicot stem.
(or)
b) What is transpiration? Give the importance of transpiration.
25. A is reddish brown meal. Which combines wih 02 at <1370k ives B, a black coloured
compound. At a temperature >1370K . A gives C which is red colour. Find A, B and C.
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